2,
/bc?
. . %
C2 Paper A — Marking Guide “’o/o
%
o)
L () 1x92°x/40B=374 Ml %
ZAOB = (0.884 radians (3sf) Al
(i) =(2x9.2)+ (9.2 x0.8837) M1
=26.5 cm (3sf) Al “4)
2. () f-)=0 . -1-k-=20=0 Ml
k=-21 Al
(i) ¥ - x - 20
x+1) X + 0x* - 2Ix — 20
o+ X
- X - 2lx
2
- X - X M1 Al
—20x - 20
- 20x — 20
(x+ 1) -x-20)=0
(x+ DEx+4)x=-5)=0 Ml
x=—-4,-1,5 Al (6)
30 =[x -x) dr
y:2x% Lyt+e M1 A2
— _ 2 2 1
x—l,y—g 3—2—34‘0 Ml
c=-1 Al
y= 2% - ix-1
when x=4, y=2(//4) - 1 (@)-1 Ml
y=16-211 - 1= 61 Al (7)
. _ 27 _ 3
40 r=i=1 Ml Al
(i) =27x3 =20% Ml Al
(i) ax(3)=36 Ml
a=36x 1 =64 Al
S. = 16743 =256 MI Al (8)
T4
5. (i) log; (6 —x) +1log, x=3
log, [x(6 —x)] =3 M1
x(6-x)=2=8 Ml
X —6x+8=0
x=2)(x—-4)=0 M1
x=2,4 Al
(i) (n—-2)1g3>2501g8 M1
n> 20188 | 5 Al
1g3
n>4752 M1
smallest n =476 Al 8)

C24 MARKS page 2

© Solomon Press


https://mymathscloud.com

2,
/bc?
| %,
(i) yh O/O
/ %
> ‘OO
0‘ \/ x B2 %
(i) (0,1),(%,0), (3,0 B3
(iii) cos2x=0.5
=% 2m— % B1 Ml
LR
_ 5
x=1%, & Al ®)
(i)  =1x+5x+6x +c M1 A3
i) = jfoz Ox* —6x + 1) dx MI
=[3x° = 3x" +x] 5, M1 Al
=(0)-(-24-12-2)=38 M1 Al (9)
(@ (i) A [2a+(19x7)] =530 M1
2a+133=53, a=-40 M1 Al
(i) =-40+Tk=—-40+42=2 M1 Al
®) (i) = (L+k7% uy=@2+k)y Bl
Q+k?*=2(1+k)? M1
4+ 4k + K =2+ 4k + 2k
=2 M1
k>0 - k=42 Al
(i) u=CB+N2)P2=9+6J2 +2=11+ 62 MI AL (11)
(i) 2 +6x+7=2x+13
X +2x-3=0 Ml
(x+3)x-1)=0 M1
x=-3,1 Al
o (=3,7), (1, 15) Al
(i)  area= jj} [(2x + 13) — (2x* + 6x + 7)] dx M1
- j; (6 — 4x — 2% dx Al
(i) =[6x—2x"— 2x] ], M1 A2
=(6-2-2)-(-18-18+18)= 214 M1 Al (11)
Total (72)
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